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4 Multiple Choice % "
5.Summary 7?/

6.Sentence Completion

7.Short-answer Questions ‘S"/\%\_\
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1.3.1 List of Headings(EZ &/ VWRER) %"

) Qi@»
* Questions 1-5
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Reading Passage 1 has five marked paragraphs, A-E.
Choose the correct heading for each paragraph from the list of headings below.
Write the correct number, i-viil, In boxes 1-5 on your answer sheet.

List of Headings
1 Avoiding an overcrowded centre
11 A successful exercise in people power
111 The benefits of working together 1n cities
1v  Higher incomes need not mean more cars
v Economic arguments fail to persuade
vi  The impact of telecommunications on population distribution
vil Increases 1n travelling time

vill Responding to arguments against public transport

Paragraph A
Paragraph B
Paragraph C
Paragraph D
Paragraph E

Wik . InFRR ; IBIREGRER | MERKX

A B WO DN -

Cb
1.3.2 Matching (1 &) ‘{ﬁb%

1.3.2.1 ASEEICIEA0ER Q/\
N

Questions 5-9

Look at the following statements (Questions 5-9) and the Jist of'g)eople in the box
below. Match each statement with the correct person A-E.

Write the appropriate letter A-E in boxes 5-9 on your a%sheet.
NB You may use any letter more than once.

5 Endangered languages cannot be saved unlés\%\%ple learn to speak more than

one language. % @é

6 Saving languages from extinction is ngj{An itSelf a satisfactory goal.
7/ The way we think may be determine ur language.
3
9

Young people often reject the hed way of life in their community.
4 .
A change of language ma ana loss of traditional culture.

\

MARPES www.koolearn.com 6
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A Michael Krauss

B Salikoko Mufwene
C Nicholas Ostler
D
E

Mark Pagel
Doug Whalen

WL : ALERR ; ERAUEESE , ABRFER

1.3.2.2 FFHHEACER

Classify the following as first occurring

A between 1945 and 1950

B between 1950 and 1980

C after 1980
Write the correct letter A, B or C in boxes 32-35 on your answer sheet.

32 the realisation that the resources of the national health systems were limited

33 a sharp rise in the cost of health-care

34 a belief that all the health-care resources the community needed would be
produced by economic growth

35 an acceptance of the role of the state in guaranteeing the provision of
health-care

al 7!

1.3.2.3 SREEIFBHER

Questions 27-31 %
Complete each sentence with the correct ending, A-G, below. %
Write the correct letter, A-G, in boxes 27-31 on your answer sheet. q()%

27 A developed system of numbering (&/\

28 An additional hand signal
29 In seventh-century Europe, the ability to count to a certain numb

30 Thinking about numbers as concepts separate from physij obgects
31 Expressing number differently according to class of |tem

A was necessary in order to fulfil a civic role. \\O
was necessary when people began farming. @"
was necessary for the development of arithm

B

C

D persists in all societies.

E was used when the range of number wo%a‘s restricted.
F

G

can be traced back to early Europ uages.
systems.

was a characteristic of early n

e Fal Ei

\
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YL I =R 2 NB

1.3.3 Matching (2 8Y)

T e

Reading Passage 2 has nine paragraphs, A-l.
Which paragraph contains the following information
Write the correct letter, A-l, in boxes 14-17 on your answer sheet.
14 a suggestion for improving trade in the future
15 the effects of the introduction of electronic delivery
16 the similar cost involved in transporting a product from abroad or from a local
supplier
17 the weakening relationship between the value of goods and the cost of their
delivery

Sk . BYELFE! FEHT! CEhFsay

1.3.4 True/False/Not Given or Yes/No/Not Given(¥|#zR)

In boxes 18-20 on your answer sheet, write
TRUE If the statement agrees with the information
FALSE if the statement contradicts the information
NOT GIVEN If there is no information on this
18 International trade is increasing at a greater rate than the world economy.
19 Cheap labour guarantees effective trade conditions. %
20 Japan imports more meat and steel than France. %

SR ERAOISHE - /S&
N

ISR ; EETS ; NV
7%
1.3.5 Multiple Choice 1250 (2% , Sik) /é)
>
Choose the correct letter, A, B, C or D. \

Write the correct letter in boxes 10-13 on your a%heet.
10 The writer refers to the film of the train | erto demonstrate
A the simplicity of early films.

B the impact of early films. 5%%-
C how short early films were. <
D how imaginative early films wéga””

Questions 9 and 10

MARPES www.koolearn.com 3




Choose TWO letters A-E.

Write your answers in boxes 9 and 10 on your answer sheet.

NB Your answers may be given in either order.
Which TWO of the following factors influencing the design of Bakelite objects are
mentioned in the text?

A the function which the object would serve

B the ease with which the resin could fill the moulad

C the faclility with which the object could be removed from the mould
D the limitations of the materials used to manufacture the mould

E the fashionable styles of the period

I . SRR E A SHERAE=—E !

1.3.6 HHREFERBSRIT. 2K, BiX

RA B ER LT

RE=KHeIE=K

1. Scanning for details
2. Skimming for overall meaning
3. Recognizing paraphrase

RiEDR

HHRBEZ www.koolearn.com g
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Skimming
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Pl

ARFIER
1. AL

2 SEHREEE (F5REM R )

SEEETERE H AU SR R

ER{3/AT1E) 60 43¢

oX
STHTE , AT *ia)
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2 1\EEBIER RN e

el

'-ﬁ%@ﬁﬁﬁﬁ
 E NBEEE H
e — |
o R AR |

2.1 SENTENCE COMPLETION---B)F5chkaR

Sentence Completion

IRZSS5ehkE)F

fEBCRTThk  _(BHERE DA B ARz )

MR DT ng
Questions 4-6 %
Complete the sentences below. @

Choose NO MORE THAN TWO WORDS from the passage for each an 'ﬂb
Write your answers in boxes 4-6 on your answer sheet.
4 EPRI receives financial supportfrom............ccovivnnnnnnn..
5 The advantage of the technique being developed by &Id& IS that it can be

BV P ——— /é

6The main difficulty associated with using the Ii\ equipment is related to

- &
S,

&N
B R AT @

Questions 23-26 5%%“
Complete each sentence with the t ending, A-H, below.
Write the correct letter, A-H, in E .( es ¥ 3-26 on your answer sheet.
23 Home medical aids

MARPES www.koolearn.com 11




24 Regular amounts of exercise
25 Feelings of control over life
26 Feelings of loneliness

A
B
C
D
E
F
G
H

may cause heart disease.

can be helped by hormone treatment.
may cause rises Iin levels of stress hormones.

have cost the United States government more than $200 billion.

may help prevent mental decline.

may get stronger at night.

allow old people to be more independent.
can reduce stress in difficult situations.

IRER5ERkA)F

e

At

R

F&  Rid

[BIRX

HENL

RIS

"S5I8

ELLEITR

ELIRJAYERF

1. 155%i8)

BFEXE #HF izl

2. 2id)

3. ind , iEEd

BER S S WMRESL ?

FERBFEZ www.koolearn.com
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1. treRia) ( E=RE )
2. g concept, opinion, idea, explanation, information, theory...

3. i8i@ statement, argument, comment, response

EAL55>

23] - C4P90

Complete the sentences below with words taken from Reading Passage 1.

Use ONE WORD for each answer.

Write your answers in boxes 7-10 on your answer sheet.

7. According to Professor Yessis, American runners are relying for their current
success on............ .

8. Yessis describes a training approach from the former Soviet Union that aims to

develop an athlete's............ .
9. Yessis links an inadequate diet to............ .

10. Yessis claims that the key to setting new records is better............ .

m Aia) (5
BAia)+iEiR+2Rin
foainl+2ia
Bia+zfia)+&li
llia+iria+ (M) 2in) ,\
oA+ BZiREiE ‘\()&

q
R SR §%5
izt - PR RS RO $

2
They may also have produced the world’s atmos e‘a\%
Day length is a useful cue for breeding in areas are unpredictable.

The word ‘echolocation’ was first used by s working as a .
In recent years, many of them have be%;q to give up their lifestyle.
7

EPRI receives financial support fron;
The advantage of the technique bethgld2veloped by Diels is that it can be used

MARPES www.koolearn.com 13
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P B PERZEXR

KR
and, also, or, as well as, consistent with, both...and..., either...or...,
furthermore, N addition, moreover, even, not only...but (also),

for example, for instance, such as, from...to...,

BRITXR

however, but,while,
nevertheless, whereas, yet, conversely, contrary to, on the contrary, by contrast QC)ED
although, though, even Iif, even though, despite, in spite of, even when,

SEPS ‘kq/%

because, as, for , in that, (since), because of, on the ground of, in view oﬁ@i}le) light of,

. . %
therefore, so, hence, thus, accordingly, in consequence, as ar

on account of, due to, as a result of, pyt o, down to,
e%ead to, affect,
contribute to

%
Y \O

BEXR /ﬁ" \Ql"

not, no, rather than, dis-, un-, im-, limit, restr@, far from, lack, hardly, against,

w0

similar, more/less than, like, as, res®&Mole,

TEBPTES% www.koolearn.com 14
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FEURN
EFEREZEXIRIRE | | (RIFFEEAN

AR FERERK , KIRBImIA) , (REEZ/LIA]

2.2 GRAM/FLow CHART/ TABLE -[E|F&&R

Early methods of producing flat glass

| —— + Glass remained
Rt
“Ribbon + Could produce glass sheets | ¢ R I B ciocainomsisiiissnas
| of varying B i ¢ 20% of glass rubbed away
+ Non-stop process + Machines were expensive

Passage: (1-3)

The first successful method for making clear, flat glass involved spinning. This method
was very effective as the glass had not touched any surfaces between being soft and%
becoming hard, so it stayed perfectly unblemished, with a ‘fire finish’. However, t
process took a long time and was labour intensive. q)%

Passage: (4-5) %

The first continuous ribbon process involved squeezing molten glass throughtwo hot
rollers, similar to an old mangle. This allowed glass of virtually any thick e&p e made
non-stop, but the rollers would leave both sides of the glass marked, and these would then
need to be ground and polished.

MARPES www.koolearn.com 15
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Questions 21-23

Right prefrontal cortex lights
up - area of brain linked to

2] iiiiiiiiiiiiiiiiiiiiiiii

Orbital prefrontal cortex is become

activated — involved with

21. His scans showed that at the beginning of a joke the listener’s prefrontal cortex lit up,
particularly the right prefrontal believed to be critical for problem solving.

22. But there was also activity in the temporal lobes at the side of the head...

23. Then when the punchline arrived, a new area sprang to life - the orbital prefrontal
cortex. This patch of brain tucked behind the orbits of the eyes Is associated with
evaluating information.

MEPE—NEFRHER , Hh—EE , BHSR , BERIEIEEES,
PR ng

&
S

2.3 GEW %"’
Questions 12 and 13 \@

Answer the questions below.
Choose NO MORE THAN THREE WORDS AND NUMBER from the passage

for each answer. %9
@swer sheet.

Write your answers in boxes 12 and 13 0@

12 What is produced to help an athle %eir performance in an event?
13 By how much did some cyclists‘-e mance improve at the 1996 Olympic Games?

MARPES www.koolearn.com 16
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eR 59 T4R
el H 2157 a , 2ERIERXIFE.

FHIRHH R

MRl [EIRY , ELL

YELL ZRIF

IRIERAREIRIBEE=RRE B5ie

tiARERIRIRI AV S iR %

When,where, % 18] , e,
what,who AZE22 1T

| ] ] .:':L__"."‘:;__.:'.?.,-_ I)I_:;.;.n ._-I.:I I': ::- '-I ::1..,- II_ __: _i__;:".--:il___::::_l.. | § [ L] _ -=-|.': _.' _; L |

g B Ry, L J-'=l-"_:.-1“—:-|'-.—.'—":I-':-'_:an'——.-frI'--""_g.».'l'.-.' e b
- : _ = sz IA-I
proportion,what is e

the cost

5)]iA]
l Cb%%
LV

SRkl C6T1 x

12 What is produced to help an athlete plan their performance in an event"

Passage: Well before a championship, sports scientists and coaches sté}\;d prepare the

athlete by developing a ‘competition model’, based on what they gpeci will be the winning
%3

%

13 By how much did some cyclists' performance imprgvgx\@ 1996 Olympic Games?

times.

Passage: At the Atlanta Olympic Games in 1996, thes as much as two per cent off
cyclists' and rowers' times. /«%

9 What potential did Perkin immediately un%d that his new dye had?

C10P20 -
Passage: But perhaps the most fas '%of all Perkin’s reactions to his find was his
nearly instant recognition that the/Rélwdye had commercial possibilities.

HHRBPEZ% www.koolearn.com 17
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12. In what country did Perkin’'s newly invented colour first become fashionable.The
company received a commercial boost from the Empress Eugenie of France, when she
decided the new colour flattered her. Very soon, mauve was the necessary shade for all
the fashionable ladies in that country.

FERBFEZ www.koolearn.com
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3 SUMMARY g LALEER

3.1 =RBIR

LA BRI R

BT

7cin) EER e 22 Rt

Questions 1-3 (C5P40)

Complete the summary.

Choose ONE WORD ONLY from the passage for each answer.

Write your answers in boxes 1-3 on your answer sheet.

Some plastics behave in a similarwayto 1 ............ In that they melt under heat and can
be moulded into new forms. Bakelite was unique because it was the first material to be
both entirely 2 ............ In origin, and thermosetting.

There were several reasons for the research into plastics in the nineteenth century,
among them the great advances that had been made in the field of 3 ............ and the
search for alternatives to natural resources like ivory

Questions 18-23 ( C5P92)

Complete the summary with the list of words A-P below.
Write your answers in boxes 18-23 on your answer sheet. %
Toughened Glass %
Toughened glass is favoured by architects because it is much stronger than o %
t

glass, and the fragments are not as 18 ............ when it breaks. However, |
disadvantage: it can shatter 19 ............ . This fault is a result of the % uring
process. Ordinary glass is first heated, then cooled very 20 ............ Theeuter layer
21 o before the inner layer, and the tension between the two layers.»:

A numerous B detected C quickly & .

D agreed E warm F sharp /é)

G expands H slowly | unexpectedly %

J removed K contracts L disputed \\

M cold N moved O small 1?{@"

P calculated /ﬁ'@)
LI & CE DL %&

g
2 RBAIEER

MARPES www.koolearn.com 19
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S i Sl SR

S RNESPTAT  FEFSEECEIEMARK

B SHEEESE

ml H SA1E EEGEHIIF -

Questions 37-40
Complete the summary of paragraph G below.
Choose NO MORE THAN THREE WORDS from the passage for each answer.
Write your answers in boxes 37-40 on your answer sheet.

. BERBSNEEERE
) R

e . mrE E TSR A R (&/\
. R RS O
Y . i TRE NS :

- BRFHERSER X
1 S’/\Q,-
e kR S v ;@

ERZS TR & B UTHI 1A |
3
A+ aHIEE

FERBFEZ www.koolearn.com
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¥55kE (9 | i )

S37 3
A:  (ZSt&RD)prep.

( of , in ,at ,from, with, to, as, on, about... )

prep.+n.

B: (&%&81)a/an +n

BllRRH#EE 1
C4P77 Obtaining Linguistic Data

Q37-40 : Complete the summary of paragraph G below

Choose NO MORE THAN THREE WORDS from the passage for each answer

A Linguist can use a corpus to comment objectively on 37 ........... Some corpora
Include a wide range of language while others are used to focus on a 38............ The
length of time the process takes will affect the 39............ of the corpus.

No corpus can ever cover the whole language and so linguists often find themselves
relying on the additional information that can be gained from the 40.....of those who speak
the language concerned.

HOW?
Step 1 %%

R BiRiE |, {RIEEEMNSFIMEFT KA EE Cﬁb
Complete the summary of paragraph G below ’%&
B NIE G ErhSH '\()&
Step 2 &
B
FAZISRIE EAREN M KA E BRI S

37 Alinguist/ comment objectively

usage. @
o B SR A F R E R IE R Ef}%‘

Y
-'1

Step 3 R /"

MARPES www.koolearn.com 71
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IRIERIERE DTSRG ZRIEREERER

37—RIEREIMa on |, FRLARTFIRT S84 22318 , {RIE[R(SR |, about the frequency of

usage. 15

Step 4
IZRRFENKIESE

%N}

wHEK : NO MORE THAN THREE WORDS

AL, frequency of usage RIFFAEER

A Linguist can use a corpus to comment objectively on 37 ...n..... Some corpora
iInclude a wide range of language while others are used to focus on a 38...n(1)... The
length of time the process takes will affect the 39...... n...... of the corpus.

No corpus can ever cover the whole language and so linguists often find themselves
relying on the additional information that can be gained from the 40...n...of those who
speak the language concerned.

A corpus enables the linguist to make unbiased statements about frequency of usage,
and It provides accessible data for the use of different researchers. Its range and size are
variable. Some corpora attempt to cover the language as a whole, taking extracts from
many kinds of text; others are extremely selective, providing a collection of material that
deals only with a particular linguistic feature.

Sometimes a small sample of data will be enough to decide a linguistic hypothesis; by
contrast, corpora in major research projects can total millions of words. An important
principle is that all corpora, what-ever their size, are inevitably limited in their covera %
and always need to be supplemented by data derived from the intuitions of ﬁf%

speakers of the language, through either introspection or experimentation. ‘&

PR E 2
C5P18 Johnson’s Dictionary o

Questions 4-7 % )

Complete the summary.

Choose NO MORE THAN TWO WORDS from the or each answer.
Write your answers in boxes 4-7 on your answer
In 1764 Dr Johnson accepted the contract t e a dictionary. Having rented a

garret, he took on a numberof4 ............ t a long central desk. Johnson did
nothaveab............ available to him, but é%& lly produced definitions of in excess of
40,000 words written down in 80 large

Passage: -
James Boswell, his biographer/described the garret where Johnson worked as ‘fitted

MARPES www.koolearn.com 9
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up like a counting house’ with a long desk running down the middle at which the copying
clerks would work standing up.

The work was immense; filling about eighty large notebooks (and without a library to
hand), Johnson wrote the definitions of over 40,000 words, ...

On publication, the Dictionary was immediately hailed in many European countries as
a landmark. According to his biographer, James Boswell, Johnson's principal achievement
was to bring 6 ............ to the English language. As a reward for his hard work, he was

granteda  ............ by the King.
It iIs the cornerstone of Standard English, an achievement which, in James Boswell's

words, ‘conferred stablility on the language of his country’.

The Dictionary, together with his other writing, made Johnson famous and so well
esteemed that his friends were able to prevail upon King George III to offer him a pension.
From then on, he was to become the Johnson of folklore.

= 3= 0

(FUREEER , NEHRTEARESE

Summary BB S8 RENL

(F—1EE , BEFTELEX, PIHZE FTHGEE RIGEE , BHEEMIRS)

wEhZREE , WREME , REEMAINENE

B IENRNAA R THRNAES

(B/RERIERZELFRIIE!
e
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4 TRUE/FALSE/NOT GIVEN ¥l|#RRR

ENE

FIfrRRAISSEY R = AN RN

Al i)

AR RE A

T/FING $HENEBEST

Tl . AMERIEIBIRIBEIR R X

4.1 Flihz<E

True/False/Not Given =ZMEEIE

Do the following statements agree with the information given in Reading Passage X?

Yes/No/Not Given =]

Do the following statements agree with the views of the writer in Reading Passage x7?

1. BRBEIRIENE /SR R

2. EEE—EN (EB S EY—ahE ) U
3 FEEMANABE (BARLUESTHAE ) é%au
4, TS REMIEIEHT | TEE T BTN \7\?/0
1&/&;-
B3 BE 1k /ﬁ' W
4.2 FIETREAIRE EAZC IR @

TMHERBTESZL www.koolearn.com 4
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sl E{ES. -

b AR e : L5 S8 o
R, EE e
HEREAESCE T o |
=

ELnAANERE (823)

1. %% BFEXE #8F iNjl MAEX =8

2. 1A

3. oma , FEaa

6 3 VA e

27 Environmentalists take a pessimistic view of the world for a number of reasons
28 Data on the Earth’s natural resources has only been collected since 1972.

29 The number of starving people in the world has increased in recent years.

30 Extinct species are being replaced by new species.

31 Some pollution problems have been correctly linked to industrialisation.

32 It would be best to attempt to slow down economic growth.

Cb
Cbcb
4.3 YeJEIBRE smia) ‘{b
1. BFER (&

17 Between 1983 and 1990 the numbers of patients visiting altg ative theraplsts rose to

\O
BES M /,Ié. \;\%-

24 Llittle doubt was expressed about the re%f_or Ehe Bishops Walk accident. ( C5P93 )

include a further 8% of the population. ( C4P48 )

.

AEENXANEE little, few, reject, not, %-,Iimit, restrict, rather than...
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3. [BE=E = (adv.+v., adj.+n. )

12 Bakelite was immediately welcomed as a practical and versatile material. (C5P42)
27 There is plenty of scientific evidence to support photoperiodism. (C5P96)

4. tbAR , LUERER , R =

In 1995, Al was at its lowest point.

Research into agent technology was more costly than research into neural network.

In the follow-up class, the teaching activities are similar to those used in conventional
classes.

5. EBINAE =

only, always, must, all, every, guarantee...

6. EIRE=

Sediment in the irrigation canals on the Nile delta causes flooding.

7. BROE =

The Aswan dams were built to increase the fertility of the Nile delta.

8. BEER

iIncrease, decrease, develop, rise, decline, fade...

29 The number of starving people in the world has increased in recent years.

/. The spread of tourism in certain hill-regions has resulted in a fall in the amount o @
produced locally. Cﬂ)

9. KHES Q/%&

If a signal from outer space is received, it will be important to respond pro (COP24)
&
LA
10. FMEEE (iBi8dNA or JEET =)

So far SETI scientists have picked up radio signals frow@\ starts.
/% N
4.4 TIFING $HIENRHIBESESH

TRUE/YES BYISR %W
1. BTFEENRESR "
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P: The rise of dictionaries is associated with the rise of the English middle class.
Q: The growing importance of the middle classes led to an increased demand for
dictionaries. (C5P19)

2. AT EEIRNLaEEHAYAE

Q. Anthropologists define culture in more than one way. (C4P94)
P: Culture in this sense includes what the anthropologist, Edward Tylor, summarised In
1871 as ‘knowledge, belief, art, morals, custom and any other capabilities and habits
acquired by man as a member of society'. Anthropologists also use the term ‘culture’' in a
more restricted sense when they refer to the ‘culture’ of a particular society, meaning the
non-biological characteristics unique to that society...

FALSE/NO HIIBR

R THIR N B #EER

P. Fewer people are starving
Q. The number of starving people in the world has increased in recent years. (C5P20)

2. BYRN/ TR isHEEe SR TAREFRE

3 Performance has improved most greatly in events requiring an intensive burst of
energy. (C4P90)

For the so-called power events - that require a relatively brief, explosive release of energy,
like the 100-metre sprint and the long jump - times and distances have improved ten to
twenty per cent. In the endurance events the results have been more dramatic.

NOT GIVEN Bi5R Cbe

W H PRNRERSERMSBIER , ERXIEAZKEE @Cb
1. BEFXRRER (&/\
2. KiEMEMREESYIRIEANSHE l\)

"
al B RASEE/NTFIRSG S RASEE |, flafEH BRI

Several of the subjects were psychology W Yale University.

(C5P23) S
...otanely Milgram of Yale University tested 40 /@) from all walks of life for their

W|II|ngneSS to... W

4. FEPBLCR , Eﬁzqﬂ%tﬁﬁ&% (BECEASIHRENTTX ;

Early peoples found it easier to codRtoy using their fingers than than a group of pebbles.

MARPES www.koolearn.com 7
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(CoP51Q40)

Counting is not directly related to the formation of a number concept because it is possible
to count by matching the items being counted against a group of pebbles, grains of corn,
or the counter’s fingers.

P: A and/or/as well as B
Q: Athan B

flEEsth  (C4P69)

9 Any street child can set up their own small business if given enough support.
Passage:

Being an entrepreneur is not for everyone, nor for every street child. Ideally, potential
participants will have been involved in the organisation's programs for at least six months,
and trust and relationship-building will have already been established. FALSE

10 In some cases, the families of street children may need financial support from S. K. |.
Passage:

There are tremendous advantages to involving parents or guardians in the program,
where such relationships exist. Home visits allow staff the opportunity to know where the
participants live, and to understand more about each individual's situation. NOT GIVEN

11 Only one fixed loan should be given to each child.

Passage:

Small loans are provided initially for purchasing fixed assets such as bicycles, shoe shine
Kits and basic building materials for a market stall. As the entrepreneurs gain experience,
the enterprises can be gradually expanded and consideration can be given to increasing
loan amounts. The loan amounts in S. K. |. programs have generally ranged from US%

$30-$100. FALSE%

12 The children have to pay back slightly more money than they borrowed. q)

Passage: }
All S. K. |. programs have charged interest on the loans, primarily to get t e@{;e eneurs
used to the concept of paying interest on borrowed money. Generally the r have been

modest (lower than bank rates). % R TRUE

FALSE #1 NOT GIVEN X3! \@

>
1. I‘JUEE'=|3E’*EIEE,#\EER%J#\*DESZE’M%‘Eﬁéﬁ%‘ﬂ?@% , IPREHFRE.

E.g. You can go to Shanghai by train or, by@w.
Q: You must fly to Shanghai. 5)'%

2. [AAFHIERRERER q%au , BIBEIEFRB AT BEANIERR | FRESEEIEAA.
Q: You may probably to,goNShranghai by bus
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Stk : True/False/Not given

1. Doctors make decisions according to the symptoms that a patient describes.

2. Our ability to deal with a lot of input material has improved over time.

3. We tend to know when we have made an error of judgement.

We are constantly required to process a wide range of information to make decisions.
Sometimes, these decisions are trivial, such as what marmalade to buy. At other times,
the stakes are higher, such as deciding which symptoms to report to the doctor.
However, the fact that we are accustomed to processing large amounts of information
dose not mean that we are better at it. Our sensory and cognitive systems have
systematic ways of failing of which we are often, perhaps blissfully, unaware.

(OG,T2,RP3)
ElSC

Questions 8-13
Do the following statements agree with the information given in Reading Passage 17
In boxes 8-13 on your answer sheet, write

TRUE If the statement agrees with the information
FALSE If the statement contradicts the information
NOT GIVEN If there is no information on this

8. The growing importance of the middle classes led to an increased demand for
dictionaries.

Beyond the practical need to make order out of chaos, the rise of dictionaries Is
associated with the rise of the English middle class...

9. Johnson has become more well known since his death.

...that Dr Samuel Johnson, the very model of an eighteenth-century literary man, as
famous in his own time as in ours... %%
10. Johnson had been planning to write a dictionary for several years. %
11. Johnson set up an academy to help with the writing of his Dictionary. q)
Johnson decided he did not need an academy to settle arguments about | %@e he
would write a dictionary himself, ({

12. Johnson only received payment for his Dictionary on its completion. \)

He was to be paid # 1,575 in instalments, and from this he too%é’y\ to rent 17 Gough

Square, in which he set up his ‘dictionary workshop'. 7f/

13. Not all of the assistants survived to see the publicatiggb‘{@mctionary

He was also helped by six assistants, two of whom iIst the Dictionary was still in
preparation.

7
Tips: %\'3%-@

1. BBEAERNNSHEAISIN %Hﬂﬂﬁ%‘ﬁﬁﬂ% :
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2. YIS FE CRIEANTRART ;

4. EBMZIE , —ER—HRH R 1-2 GIRFR ;

1. FIRr 5 ——A AT EeEIE NG

2. —mNXERB=1" , TIFING =8

3. T HUMEER—7ELL NG %2

4. 1BE BN WTEsE

SEiE

True: [R(EERILIGEREH—EKIL

False: [ RN (EEMEAEXH

NG : [RXEEAEF =R H IEFE Eia1x

4.5 T&l : WIRIFBIRIBERIZ X

1. FIRA9FHRANZEXRR (FH7 or i5i ) /\

The sense of smell, or olfaction, is powerful. (&
Computers have been used for most kinds of crime, including larceny, ezzlement,
burglary, sabotage, murder and forgery, since the first cases wer reperted in 1985.
Baekeland’s invention, although treated with disdain in its early went on to enjoy an

unparalleled popularity which lasted throughout the first ha fo’ e twentieth century.
Q: Bakelite was immediately welcomed as a practical ar%- Ile material.

2. FIAENXERYIFEiRi1REA,

Another practice that is prohibited under a%%us ws Is a form of freebie marketing

known as “tying”. This is when a seller m sale of one good conditional on the

acquisition of a second good. %&
7
EX ARNBIEENAZS A ¢
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be, mean, deal with, be considered, to be,
refer to,be called, be known as, define, represent, signify, constitute

3 HRIESERIBTMEAN ([FMLE )

Semantics, the study of the meaning of words, Is necessary if you are to speak and read |
ntelligently.

F{LERIAES -
or, similarly, that is to say, in other words, namely...

4. fRIEZEGIIENhE X

If we think of a book we studied months or years ago, we will find it easier to recall
peripheral details--the colour, the binding, the typeface, the table at the library where we
sat while studying it--than the content on which we were concentrating.

28.Lozanov's theory claims that, when we ftry to remember things
(C7P28)

A unimportant details are the easiest to recall.

B  concentrating hard produces the best results.

C the most significant facts are most easily recalled.

D  peripheral vision is not important.

5. BIBIES . FIAWIEE

BEBIZ . dis- un- in- im-

over- F3IF , 4540 overcrowded , overstate , overestimate
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5 MULTIPLE CHOICE ]

+ IEIFRRER TR

32. Children who are bullied %
A are twice as likely to commit suicide as the average person. q)
B find it more difficult to relate to adults. ‘k,

C are less likely to be violent in later life. (&/\

D  may have difficulty forming relationships in later life.

Questions 9 and 10 % °

Choose TWO letters A-E.
Write your answers in boxes 9 and 10 on your answer sr\?{@
NB Your answers may be given in either order. \%_

Which TWO of the following factors inﬂuenci%lhg\%l sign of Bakelite objects are
mentioned in the text?

A the function which the object would servg)@_@)

B the ease with which the resin could fi 44 uld

C the facility with which the object cob RiBSremoved from the mould
D the limitations of the materials (ed {0 manufacture the mould
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E the fashionable styles of the period

Question 40

Choose the correct letter, A, B, C or D.

Write the correct letter in box 40 on your answer sheet.

Which of the following is the most suitable title for Reading Passage 37
A  Bullying: what parents can do
B  Bullying: are the media to blame?
C Bullying: the link with academic failure
D  Bullying: from crisis management to prevention

eI RAAYE IS

5.2 IEIFERAIRFRAZCIR
EET | FRE
AR , RIS

B[R , IEN , Za1/E , b

BRI | 184518 ,\

Hilathr 1 : .
. - . @ .
The book Educating Psyche is mainly concerned with /é)
A the power of suggestion in learning \@

B a particular technique for learning based on emotio
C the effects of emotion on the imagination and the %ﬁ;cious
D ways of learning which are not traditional /‘%?

Educating Psyche by Berine Neville is a b ich looks at radical new approaches to
learning, describing the effects of emo# agination and the unconscious on learning.
One theory discussed in the book isdthatidsoposed by George Lozanov, which focuses on
the power of suggestion.
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5.3 FHINEINZIFIE
1. [RAEFE

2. NIRX(EEFE

3. 1EINT 483

4. ARl

Bialie IR S IR

MAEIRERBRAIER R R ENL

RIS

Hanth

32 Children who are bullied
A are twice as likely to commit suicide as the average person.

B find it more difficult to relate to adults.
C are less likely to be violent in later life.
D  may have difficulty forming relationships in later life.

B Bullying is clearly unpleasant, and can make the child experiencing it feel unworthy
and depressed. In extreme cases it can even lead to suicide, though this is thankfully rare.
Victimised pupils are more likely to experience difficulties with interpersonal relationshi %
as adults, while children who persistently bully are more likely to grow up to be physi
violent, and convicted of anti-social offences.

N
1ELR4SIE : &5
N

A ATFE twice

&
B FREHRENN as, ERIFZIERRRERRIEN %
C MRXESIER &\Ql\_\
b5

D AR ES /’@)

BH@othr 3 ) %

According to the text, every year lightg
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A does considerable damage to buildings during thunderstorms
B Kills or injures mainly golfers in the United States.

C Kkills orinjures around 500 people throughout the world

D damages more than 100 American power companies.

Their electrical fury inflicts death or serious injury on around 500 people each year in the
United States....

...a leisurely round of golf can become a territying dice with death-out in the open, a lone
golfer may be a lightning bolt's most inviting target.

And there is damage to property too. Lightning damage costs American power companies
more than 100 million a year.

B3t 4

36 The writer suggests that newspapers print items that are intended to
A educate readers

B meet their readers’ expectations

C encourage feedback from readers

D mislead readers

Newspapers and broadcasters are there to provide what the public wants.

5.4 F EiniFRARIREA

BHARE

The most suitable title of the passage...
The aims/objectives/purposes of the writer... %
Which one best summarises the conclusion? %

The main idea of a paragraph... q)%
B3R Q/\

Choose the correct letter, A, B, C or D. ‘\)
Write the correct letter in box 40 on your answer sheet. .,
Which of the following is the most suitable title for Reading Pas%?

A  Bullying: what parents can do

7
B  Bullying: are the media to blame? \\O
1%@}

C Bullying: the link with academic failure
D Bullying: from crisis management to prevent)#‘?
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WFEEFENR | SieNEEEeRIRE

RXEE | KEE59&EEXRA

B34 1

What does the writer say about America’'s waste problem?

A 1t will iIncrease in line with population growth.

B Itis not as important as we have been led to believe.

C It has been reduced through public awareness of the issues.
D It is only significant in certain areas of the country.

The fourth factor is poor individual perception. People worry that the endless rise in the
amount of stuff everyone throws away will cause the world to run out of places to dispose
of waste. Yet, even if America’s trash output continues to rise as it has done in the past,
and even if the American population doubles by 2100, all the rubbish America produces
through the entire 21st century will still take up only one-12,000th of the area of the entire
United States.

EHl 34 2

34 The experiment described in paragraph B

A shows how we make use of smell without realising it.

B demonstrates that family members have a similar smell.

C proves that a sense of smell is learnt.

D compares the sense of smell in males and females. %

In one well-known test, women and men were able to distinguish by smell alone cl

worn by their marriage partners from similar clothing worn by other people. Mgﬁ?)he
subjects would probably never have given much thought to odour as a cue f ﬁcs

family members before being involved in the test, but as the experiment revealed

when not consciously considered, smells register.

fying
~even

A
FERAHIER 1B | EXERL

Striking Back at Lightning With Lasers 13’/“,-

R FESER 5%%_
HENH 4 (CB) %3
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35. What is the writer doing in paragraph C?
A supporting other research
B making a proposal
C rejecting a common belief
D describing limitations

In spite of its importance to our emotional and sensory lives, smell is probably the most
undervalued sense in many cultures. The reason often given for the low regard in which
smell is held is that, in comparison with its importance among animals, the human sense
of smell is feeble and undeveloped. While it is true that the olfactory powers of humans
are nothing like as fine as those possessed by certain animals, they are still remarkably
acute. Our noses are able to recognise thousands of smells, and to perceive odours which
are present only in extremely small quantities.

Bl 5 (C8)

36 What does the writer suggest about the study of smell in the atmosphere in paragraph
E?

A The measurement of smell is becoming more accurate.

B Researchers believe smell is a purely physical reaction.

C Most smells are inoffensive.

D Smellis yet to be defined.

Most of the research on smell undertaken to date has been of a physical scientific nature.
Significant advances have been made in the understanding of the biological and chemical
nature of olfaction, but many fundamental questions have yet to be answered.

Researchers have still to decide whether smell is one sense or two - one responding %%

odours proper and the other registering odourless chemicals in the air. q()%)

5.5 ZikrERYREE Q/\
N

HAnth )

q
Questions 9 and 10 %

Choose TWO letters A-E. 7f/

Write your answers in boxes 9 and 10 on your answer s A\O’

NB Your answers may be given in either order. 1&3&}‘

Which TWO of the following factors inﬂuenc%ﬁesign of Bakelite objects are

mentioned in the text?
A the function which the object would servg@"

B the ease with which the resin couldafi ould
C the facility with which the object-€ould¥e removed from the mould

é '0 manufacture the mould

D the limitations of the materials
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E the fashionable styles of the period

The design of Bakelite objects, everything from earrings to television sets, was governed
to a large extent by the technical requirements of the moulding process. The object could
not be designed so that it was locked into the mould and therefore difficult to extract. A

common general rule was that objects should taper towards the deepest part of the mould,
and If necessary the product was moulded in separate pieces.

ZiERARYHIERER

R EAENSRAE—

NB 127 , IR EEELF

i e

ZIRWIRBENERF—A , Brlies 2  BRER/AE

Y=

Z U ERIRURRE (B | —RRIINESRECIRET | BRI LR AR R

Y=

SIHTRETAIEIR , FKEE |

RIRET 0T | AN R ng
SRR | BT @%

£ AR /\()&

B RIBSCEES | i QA"

AN
IEINAEBIRFE ,ﬁ;<§%
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6 MATCHING FaHigRR

Which paragraph contains the following information? C6P65
Write the correct letter, A-J, in boxes 1-5 on your answer sheet.
1  the location of the first cinema

how cinema came to focus on stories

the speed with which cinema has changed

how cinema teaches us about other cultures

the attraction of actors In films

OO &~ GODN

RA B FFAIE

ZEIRNHT

EXIELR

MEEIRK

ERTR

o
4. HERMIRHE—FHER > %

5. FARLARIESEHES —3 /Y answer (B , X)) ‘S"/\%.\.\

p N
R

5an

2 how cinema came to focus on stori
| ~ XY
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9  Storylines were important in very early cinema. ( Y/N/NG ) -l Ez

fiRa TS ANE L

o NBEE

overview /past/introduction/initiation/orientation/main idea/view/concept/

N RER

future / solution / conclusion / suggest or suggestion / Summary/prediction

FIENEANZIESTS

= el BERYIEE

PRI E

1. SRR

2. BEERERISHT
3. IMHKRIEHIGEE

4.  MNIINXSHIFEDE

5. XFIMSHIFFKREE

LIRS

2. SCISRYEANENR (ISEER , IIEXR... ) ‘\)
%o
3. SCISAYERFIITE %

4. SCIGRVZEER &)\%_\_\

5. SRS HRIRE @

6. KZEIL

__{@
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HFR ( C5.P22. Q14-19)

Q14-19 Reading passage has 9 paragraphs. A-H
Which paragraph contains the following information?
14. A biological explanation of the teacher-subjects’ behavior
15. The explanation Milgram gave the teacher-subjects for the experiment
16. The identity of the pupils
17. The expected statistical outcome
18. The general aim of sociabiological study
19. The way Milgram persuaded the teacher subjects to continue.

6.2 TiAEEfERR (IEFFIVHEER )

B , =H NB

ImaEANEE | 5

F3 A EIREE i ERR

1A FRIe R X —ER1a)Ek A X & iRAY1H

Questions 23-26 ( C5P25)

Complete the summary using the list of words, A-K, below. %
Write the correct letter, A-K, in boxes 23-26 on your answer sheet. (%?)

THE TRANSPORT REVOLUTION @)
Modern cargo-handling methods have had a significant effect on 23...... (%;S s the

business of moving freight around the world becomes increasingly streamline

Manufacturers of computers, for instance, are able to import 24................. m overseas,
rather than having to rely on a local supplier. The introduction 053....0...’ .......... has meant
that bulk cargo can be safely and efficiently moved ove distances. While

iInternational shipping is now efficient, there is still a ne(&'@ governments to reduce

A0 ....ccvnnren In order to free up the domestic cargo sector.

A tariffs B components C contdiﬁ IPS
D output E employees F i)@?n e costs
G trade H freight ares

J software K international standé%‘

E To see how this influences tra%der the business of making disk drives for
computers. Most of the world's diSk-pletve manufacturing is concentrated in South-east
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Asia. This Is possible only because disk drives, while valuable, are small and light and so
cost little to ship. Computer manufacturers in Japan or Texas will not face hugely bigger
freight bills If they import drives from Singapore rather than purchasing them on the
domestic market.

H The shipping container transformed ocean shipping into a highly efficient, intensely
competitive business. But getting the cargo to and from the dock was a different story.

National governments, by and large, kept a much firmer hand on truck and railroad tariffs
than on charges for ocean freight.

FnliE=

OB HINRIELE

18 EANEA—E R RE

6.3 }2EiER ( Matching1 B )
N o

\

-
xR ' X
- RS

. BRI @/Cb

AB-Eig A
Bl 1 : (C4, P44. Q5-9) \Qf\f\?@

Match each statement with the correct person A-E 1?’@

NB You may use any letter more than once

5. Endangered languages cannot be saved ss@ople learn to speak more than one
language uﬁ‘

6. Saving languages from extinction is itself a satisfactory goal.

7. The way we think may be deter { our language

8. Young people often reject the establshed way of life in their community
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9. A change of language may mean a loss of traditional culture
A Michael Krauss

B Salikoko Mufwene

C Nicholas Ostler

D Mark Pagel

E Doug Whalen

S-S

Questions 11-13 ( C6P43)

Look at the following cities (Questions 11-13) and the list of descriptions below.
Match each city with the correct description, A-F.

Write the correct letter, A-F, in boxes 11-13 on your answer sheet.

11 Perth

12 Auckland

13 Portland

List of Descriptions

A successfully uses a light rail transport system in hilly environment
B successful public transport system despite cold winters

C profitably moved from road to light rail transport system

D hilly and inappropriate for rail transport system

E heavily dependent on cars despite widespread poverty

F inefficient due to a limited public transport system

73 R_ECxd
e

Questions 5-10  (C5P64)

Classify the following features as characterising @)

A the 'Headstart’ programme ’\
B the 'Missouri’ programme (&
C both the ‘Headstart’ and the ‘Missouri’ programmes \)

D neither the 'Headstart’ nor the ‘Missouri’ programme & i
%

Write the correct letter A, B, C or D in boxes 5-10 on your aw’ r sheet.

5 was administered to a variety of poor and wealtQy f S
6 continued with follow-up assistance in elemen ools
7/ did not succeed Iin its aim /ﬁ-

8 supplied many forms of support and trainin parents

9

received insufficient funding gﬁg
10 was designed to improve pre% educational development
o
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Questions 23-26 C6P47
Complete each sentence with the correct ending, A-H, below.
Write the correct letter, A-H, In boxes 23-26 on your answer sheet.
23 Home medical aids
24 Regular amounts of exercise
25 Feelings of control over life
26 Feelings of loneliness

may cause heart disease.

can be helped by hormone treatment.

may cause rises in levels of stress hormones.

have cost the United States government more than $200 billion.
may help prevent mental decline.

may get stronger at night.

allow old people to be more independent.

can reduce stress in difficult situations.

T o M moOoQO W >

6.3.1 RRAYHFIE
BBl |, RS |, S SHEREMECXIER
NB: you may use any letter more than once

NB: Nota Bene=4Z3IiF=

gHNE—EE

6.3.2 NZ-BiREE TR

NN EHEMEB
( Eggua) - EENAG(EE{EEER

'I= —— : = e - I -

,,".'l.-u'l."l- l'.'"‘:?'-..'l-l."'i' . "l'-'l" A Ty FI-IJ.’FJ.'J-E Sav il igar Nl

WA fa] hi— 12N -
. =l Al yr e ﬁ' -+ - p=
it . ¥ixEa

X RET A EEAS R RI N & 1Q@
T TR /%\

AZ-Eig

(5l 1 : (C4, P44. Q5-9)
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Match each statement with the correct person A-E

NB You may use any letter more than once

5. Endangered languages cannot be saved unless people learn to speak more than one
language

6. Saving languages from extinction is not in itself a satisfactory goal.

/. The way we think may be determined by our language

3. Young people often reject the established way of life in their community

9. A change of language may mean a loss of traditional culture

A Michael Krauss MK

B Sallkkoko Mufwene SM  ---3
C Nicholas Ostler NO

D Mark Pagel MP  ---2
E Doug Whalen DW

MK--

The critically endangered languages are those that are only spoken by the elderly,

according to Michael Krauss

NO--

It begins with a crisis of confidence, when a small community finds itself alongside a larger,

wealthier society, says Nicholas Ostler, of Britain's Foundation for Endangered Languages,

In Bath. ‘People lose faith in their culture,” he says. 'WWhen the next generation reaches

their teens, they might not want to be induced into the old traditions.’

DW--

‘The key to fostering diversity is for people to learn their ancestral tonque, as well as the

dominant lanquage,” says Doug Whalen, founder and president of the Endangered

Language Fund in New Haven, Connecticut. ‘Most of these languages will not survive

without a large degree of bilingualism,” he says.

MP %

At the moment, we are heading for about three or four languages dominating theggﬁv
SS

says Mark Pagel, an evolutionary biologist at the University of Reading. °
extinction, and whether we will ever rebound from the loss is difficult to know., S,‘

‘Your brain and mine are different from the brain of some one who spea rench, for

iInstance, Pagel says, and this could affect our thoughts and perceptions.

5. Endangered languages cannot be saved unless people Iear% spgak more than one
q

language- ---E
6. Saving languages from extinction is not in itself a satlsfacﬁ&; goal. ---B

/. The way we think may be determined by our languag \D\O’
8. Young people often reject the established way of Ilr%elr community---C

9. A change of language may mean a loss of tra% lture- --B

TIP 5%%-—
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Questions 5-10 (C5P64)

Classify the following features as characterising

A the 'Headstart’ programme

B the ‘Missouri’ programme

C both the 'Headstart’ and the ‘Missouri’ programmes
D neither the ‘Headstart’ nor the ‘Missouri’ programme

Write the correct letter A, B, C or D in boxes 5-10 on your answer sheet.
was administered to a variety of poor and wealthy families
continued with follow-up assistance in elementary schools

did not succeed in its aim

supplied many forms of support and training to parents

received insufficient funding S
10 was designed to improve pre-schoolers' educational development %

@%

C ‘Headstart’'--- Despite substantial funding, results have been disappsintin

D ‘Missouri’----The four-year pilot study included 380 families whb\vre about to
have their first child and who represented a cross-section of socio-economic status, age
and gamily configuration. & "o

The programme involved trained parent-educators visiting t@r/p#@ home and working
with the parent, or parents, and the child. @

= The results were phenomenal. By the age of t“@ the children in the programme

were significantly more advanced in language d%%;o t than their peers, had made

O© 0 N O O

greater strides in problem solving and other Iint | skills, and were further along In

social development. %\%_
@ In an attempt to overcome tha lonal under-achievement, a nationwide

programme called ‘Headstart’ was lau the United States in 1965.
D As a result of the growing seske evidence of the importance of the first three
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years of a child’s life and the disappointing results from ‘Headstart, a pilot programme
was launched in Missouri in the US that focused on parents as the child’s first teachers.
The '‘Missouri’ programme was predicated on research showing that working with the
family

Write the correct letter A, B, C or D in boxes 5-10 on your answer sheet.

5 was administered to a variety of poor and wealthy families B
6 continued with follow-up assistance in elementary schools D

/ did not succeed In its aim A

8 supplied many forms of support and training to parents B

9 received insufficient funding D

10 was designed to improve pre-schoolers’ educational development C

TIP
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Questions 24-27 (C5P47)
Complete each sentence with the correct ending A-G below.
Write the correct letter A-G in boxes 24-27 on your answer sheet.

24 One of the brain’s most difficult tasks is to

25 Because of the language they have developed, humans
26 Individual responses to humour

27 Peter Derks believes that humour

react to their own thoughts.

helped create language in humans.

respond instantly to whatever is happening.

may provide valuable information about the operation of the brain.
cope with difficult situations.

relate to a person’s subjective views.

led our ancestors to smile and then laugh.

O Mmoo W >

24. Making a rapid emotional assessment of the events of the moment is an extremely
demanding job for the brain, animal or human. C

25. All warm-blooded animals make constant tiny adjustments in arousal in response to
external events, but humans, who have developed a much more complicated internal life
as a result of language, respond emotionally not only to their surroundings, but to their

own thoughts. A
26. Whether a joke gives pleasure or pain depends on a person’s outlook. F
27. As Peter Decks, a psychologist at William and Mary College in Virginia, says: ‘|l like %

lingual. If we can figure out how the mind processes humour, then we’ll have a pretty

\<)<\

think of humour as the distorted mirror of the mind. It's creative, perceptual, analytical
: %;)od

handle on how it works in general.’
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7 List of Headings ( LOH ) EXZHRRARR

1. TAIR LOH &Y

2. JBEx LOH RURERRZP IR

3. BRI ETHHE

7

N
.

. RSERAIER

’

5. ZEGBIRNEE Z iR

6. BERXAREILE

7. TRV EE B

Reading Passage 2 has seven paragraphs, A-H.
Choose the correct heading for paragraphs A and C-H from the list of headings below.

List of Headings
| Scientists’ call for a revision of policy %
i An explanation for reduced water use Cb

il How a global challenge was met @%

v Irrigation systems fall into disuse

v Environmental effects (&/\
Vi The financial cost of recent technological improvements ‘\)

Vil The relevance to health

Viii Addressing the concern over increasing populations % o
IX A surprising downward trend in demand for water 7/
X The need to raise standards

X| A description of ancient water supplies g}\%\_\
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14 Paragraph A

Example
Paragraph B

15  Paragraph C
16  Paragraph D
17  Paragraph E
18  Paragraph F
19  Paragraph G
20  Paragraph H

7.1 BEGR

géf Il:l:lI ‘Wﬂ.jrﬁﬂﬂ Eﬁ_.l_; &

iR IS = 2T H R B RVE =

el S EHYBIE

7.2 TR
TELOHERELHIT
BCRVE ZPRER

i 5 %

Answer

111

\
7

E'U‘Eﬁ ' :':;ij.liljj

BQZ =EZAY

=
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7.3 EFq)

B PR
EELLREE (B-9) BA
190 « TREA+KIFCIHE
B PR

Ul 6 Test3 Passage Reading 2 <Motivating Employees under adverse condition> Q 14

KEY POINT TWO

The literature on goal-setting theory suggests that managers should ensure that all
employees have specific goals and receive comments on how well they are doing in those
goals. For those with high achievement needs, typically a minority in any organisation...

List of Headings

|  Ensure the reward system is fair

I Match rewards to individuals

il Ensure targets are realistic

Iv. Link rewards to achievement

v Encourage managers to take more responsibility

vi  Recognise changes in employees' performance over time
vii Establish targets and give feedback

vili Ensure employees are suited to their jobs

REAMRHNESR

...suggest that... ‘kq)%
...consider that ... ’\
....believe that... (&
...recognize that... ‘\)

...show that... i

q
HEENG , ERDTAIRIEEES %

RAIAEEERR) /ﬁ" §\%\%"

RAELURIES (29 BH Y-
TR R %p
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94 Test4 Passage Reading 3

< The Problem of Scarce Resource> Section C

| The connection between health-care and other human rights
Il The development of market-based health systems %

il The role of the state in health-care

Iv. A problem shared by every economically developed country

v The impact of recent change

vi  The views of the medical establishment

vii  The end of an illusion
vill Sustainable economic development

/ O

C
However ,at exactly the same time as this new realization of the finite character of

health-care resources was sinking in ,an awareness of a contrary kind was developing In
Western societies:that people have a basic right to health-care as a necessary condition
of a proper human life .Like education...

D

Although the language of ‘rights’ sometimes leads to confusion, by the late 1970s it was
recognised in most societies that people have a right to health-care (though there has
been considerable resistance in the United States to the idea that there is a formal right to
health-care). It is also accepted that this right generates an obligation or duty for the state
to ensure that adequate health-care resources are provided out of the public purse. The

Cb%

HEE/J R;|=| :

C7T1 Passage Reading 2 < making every drop count> Q 16 Paragraph D ‘kq)
Section C >
Yet there is a dark side to this picture:... Preventable water-related d| kill an
estimated 10,000 to 20,000 children every day and the latest evidence..
Section D "
The consequence of our water policies extend beyond je -f.m. human health.
Tens of millions of people have been forced to move from tb,e;l"r homes -often....more than

20% of all freshwater.. \O’
Q@r

T EARNE—ERNESSE | FH_E TR RkE

BB .
34
BELAME (9-8) BR <G gé
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37 - GhiE+24%5

CoT2Passage Reading 1 < The Advantages of Public Transport > Q4

D Newman believes one of the best studies on how cities built for cars might be
converted to rail use is The Urban Village report, which used Melbourne as an example. It
found that pushing everyone into the city centre was not the best approach.

Instead, the proposal advocated the creation of urban villages at hundreds of sites, mostly
around railway stations.

List of Headings

| Avoiding an overcrowded centre

Il A successful exercise in people power

il The benefits of working together in cities

Iv. Higher incomes need not mean more cars

v Economic arguments fail to persuade

vi  The impact of telecommunications on population distribution
vil Increases in travelling time

vill Responding to arguments against public transport

TSER-TIHREERT

C6T4R3
B Bullying is clearly unpleasant, and can make the child experiencing it feel unworthy
and depressed. In extreme cases it can even lead to suicide, though this is thankfully rare.
Victimised pupils are more likely to experience difficulties with interpersonal relationships
as adults, while children who persistently bully are more likely to grow up to be physically
violent, and convicted of anti-social offences.

List of Headings

| The role of video violence

il The failure of government policy

il Reasons for the increased rate of bullying

Iv. Research into how common bullying is in British schools
v The reaction from schools to enquiries about bullying

vi The effect of bullying on the children involved 7?

vii Developments that have led to a new approach by \%_
1

R

Section A -
Volcanoes are the ultimate ear

>
7.4 ZEFERY LOH BRBYfRX %?\3%‘
%

woving machinery. A violent eruption can blow the
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top of...
But the classic eruption...is only of a tiny part of global story...
Volcanoes have not only made the continents, they are also thought to have made
the world’s first stable atmosphere and provided all the water for the oceans.
What comes out of volcanic craters is mostly gas. More than...

EF—RVERENE—T
IZIEXR

EREB IR &
RiEZIE

EiEMIEk

7.5 FiInEmEHE
MRS , EPNES

C3P42 iii farming and soil erosion
C5P85 vi the economic benefits of mass tourism

ARl
C5P85 1 The expansion of international tourism in recent years. ng

g /\

Nzt
I
i
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-
&

ISR R %

2. 3L 7@»
1. List of Headings 5%%“

2. Matching 2
3. True/False/Not Given - 4

4. Multiple Choice
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5. Summary
6. Sentence Completion

/. Short-answer Questions
3. Diagram/Flow Chart/Table

eI F------1EE , HR
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